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AT 7397 :
ATAforfad 3w @1 aga el @ 9iaT ik I G & g H :
(i) 37 F97-97 § F7 14 97 & | T 397 3791 & |
(i) I8 Y99-97 di7 @Sl 7 fa¥1faa 8 - @uE &, & 797 T |
(iii) WIS HHT6 Y97 (9 1 T6)3 70 395 5972 1% 1 & | 1 551 &
STaRe [deey Ig17 37 797 3 |
(iv) WIB@H4 Y%7 (3.49.7 10) 5, 570 I9% J97 3 376 &1 & | Ub Y97 &
SR faeheT YT 1637 77 8 |
(v) @WUETH4L I (7.9 11 8 14) 8, 579 9% 597 4 37 #1 8 | Uk 597 7
SRS [ahcT J5717 1637 7 8 | 37 @V H 31 JaHUT 37eqF7 SR I97 7
T &
(vi) FoPpAR F ITINT H HFAT TG 8
U &
o7 G 1 G 6 T Tcih JoH & 2 3% & |
1. (&) x fau fgoma e
x2 - 2ax —(4b2-2a2)=0

aﬁsaaﬁﬁm 2

(@) aﬁ;%srmaﬁw
1+a + 2abx + (b2 —¢2) =
% A T édlbdldch% Fﬁﬁl?g’aﬁﬁmﬁﬁ

02(1+a2) 2
2. wwa@%d 5l agy = 1358 | 39 Al % TYW 20 Y&l 1 IMTHA
1A HINT | 2
3.  Tou 7T SRSAI-ST I qgh 1 HINT 2
i FRFRAT
15 -25 6
25 —-35 11
35 —-45 22
45 - 55 23
55 —-65 14
65— 75 5
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General Instructions :
Read the following instructions very carefully and strictly follow them :
(i) This question paper contains 14 questions. All questions are compulsory.
(it)  This question paper is divided into three sections — Sections A, B and C.

(iii) Section A comprises of 6 questions (Q.no. 1 to 6) of 2 marks each. Internal
choice has been provided in two questions.

(iv) Section B comprises of 4 questions (Q.no. 7 to 10) of 3 marks each. Internal
choice has been provided in one question.

(v)  Section C comprises of 4 questions (Q.no. 11 to 14) of 4 marks each. Internal
choice has been provided in one question. It also contains two case study based
questions.

(vi)  Use of calculator is not permitted.

SECTION A

Question numbers 1 to 6 carry 2 marks each.

1. (a)  Solve the quadratic equation for x :
x2 —2ax — (4b2-2a2)=0 2
OR

(b)  If the quadratic e

1+ ;ﬁé\, 2abx + (b2 —c2) =

has equal real roots, then prove that :

@2 (1 + a2) 2

2. Find the sum of first 20 terms of an AP in which d = 5 and a9y = 135. 2
3. Find the mode of the given frequency distribution : 2
Class Frequency

15-25 6

25 -35 11

35 —45 22

45 — 55 23

55 — 65 14

65— 75 5
.30/3/1 3 P.T.O.
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150 TEThR HIHHL o Zohs 39 YR Sl 9Id & foh quf &9 & arft |

F I | SRR S H ST TR el ghg F1d T | 2
A
(@) armfa 18, 6 e Yo ot A = FeprgER wew Sie for e F | 54
TR F TATH 1 HdA JEIF &ABA F1d HINT | 2
/I}._—_“__/J _____ Vi _':______
SATPI 1
5. ‘0% fhg um & fou, aam afedi 9, 7, 5, ... 3R 15,12, 9, ... % nd UQ
gqE B 2 2
6. A 2 H, g O I g9 W PQ T PR FTEi-@W Tt T8 g | IR
2/ OPR = 45° g, i fag hifst fo6 ORPQ @ & 7 | 2
Q
\Q
&S\ P
\Qrb' 45°
N R
$
SATPI 2
G LCRC]

97 G 7 G 10 7% Y3 T & 3 3% & /
7. (%) 8HH A1 % W@rES AB €T | 39 {@rE@E AB W g P %I 36 YK

31ferd T o AP: PB=1:571 | 3
rerat
(@) 3 Brsan o1 U g iy | g fog @ 6 9l 6l gl W feua fag P&
A W 3 TRI@13Ti PA @91 PB i &1 i | 3
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4, (a) 150 spherical marbles, each of diameter 1-4 cm, are dropped in a
cylindrical vessel of diameter 7 cm containing some water, and are
completely immersed in water. Find the rise in the level of water
in the cylindrical vessel. 2

OR
(b)  Three cubes of side 6 cm each, are joined as shown in Figure 1.
Find the total surface area of the resulting cuboid. 2
I |
I I
[ |
I I
I I
e e e i
Figure 1
5. For what value of ‘n’, are the nth terms of the APs : 9,7, 5, ..... and
15,12, 9, ..... the same ? 2
6. In Figure 2, PQ and PR are tangents to the circle centred at O. If
2 OPR = 45°, then prove that ORPQ is a square. 2
Figure 2
SECTION B

Question numbers 7 to 10 carry 3 marks each.

7. (a) Draw a line segment AB of length 8 cm and locate a point P on AB
such that AP: PB=1:5. 3

OR
(b) Draw a circle of radius 3 cm. From a point P lying outside the
circle at a distance of 6 cm from its centre, construct two tangents
PA and PB to the circle. 3
.30/3/1 5 P.T.O.
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8. 20 . qur 28 . I & WHI % REX TH dX g S M & | THAA (&)
T R I A 30°h HIU T g | AR hl AFETS [T HIC AT 21 @I

oft= <t gl Ta iy | 3
9. TH TP 3TN A 50 SATell STHall o AR (kg ®) fepis fopu mu aen f stiee
Hred gU
R T Bl
(kg ¥) g&q7
100 — 110 4
110 — 120 12
120 — 130 23
130 — 140 8
140 — 150 3
Sicya rex fafer g SHerl =1 d1ew wr (kg ®) 10 T | 3
10. F=fafgd sRarar s &1 areses J1a i 3
g7t FRETAT
1400 — 1550 6
1550 — 1700 13
1700 — 1850 25
1850 — 2000 | < 10
>
S LCLER|
o7 &7 11 G 14 H@W%‘4 3 E |

11. (%) ﬂ'@ﬁ%ﬁ,ﬁo‘;{OﬁO’WﬁﬂﬁGﬁW:ﬁWh@Tr%%,

Th-gHL I HATAREH &9 & A W T30 Hd 8 | 9¢ g9 I TH a1 AB
B g1 € W firerdt B | goise & C, AB 1 wmfgwifod & 2 | 4

4

AT
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8. The tops of two poles of heights 20 m and 28 m are connected with a wire.

The wire is inclined to the horizontal at an angle of 30°. Find the length
of the wire and the distance between the two poles. 3

9. The weights (in kg) of 50 wild animals of a National Park were recorded
and the following data was obtained :

Weight Number of
(in kg) animals
100-110 4
110-120 12
120 - 130 23
130 — 140 8
140 — 150 3
Find the mean weight (in kg) of animals, using assumed mean method. 3
10. For the following frequency distribution, find the median : 3
Class Frequency
1400 — 1550 6
1550 — 1700 13

1700 — 1850 & 25
1850 — 2000 . {10
>
NG
N SECTION C
Question numbers @ o 14 carry4 marks each.

11. (a) In Figure 3, two circles with centres at O and O’ of radii 2r and
r respectively, touch each other internally at A. A chord AB of the
bigger circle meets the smaller circle at C. Show that C bisects AB. 4

O

A
Figure 3

OR
.30/3/1 7 P.T.O.
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(@) T 4§, 5 &0 B0 9T 99 1 g f9g 02 | PA @1 BC %AW

fdg A da1 B W @i=l T wWeid@n 2 | A OP = 13 &t g, i
TGt PA a9 BC shl T8 [Td shifoiT | 4

TSI 4

12. U Hiyr Tomn Uk HMR o 91E de Il & | HI9R & IR W Est v et
Teh R il 30° & GTHT IV W @Al &, I Toh HHAR o Uig 6l 3T THTAN
I S 2 | 10 HHUS S1G BN HT FATHA B 60° B AT | 39 g €
AR o 91g T Tga- H R GRI [oRl T §Ha 1 hifTe- | 4

TR0 HETTH — 1

13. = feu o fom A, v 9fEr 3 39 = fiw il HiH W e SRR et
I SERT | I % IR % x HI. GIg] €iHe (hshie) § S TRl Hedrd 7 |
earel 1 FEd Yol 7 Hl o 121 F | gt k1 &nrhed 36 3 A R |

(%) ITIF GAN F IMER T x % T3 ¥ U foma wwfieror s | 2
(@) YA % IR 3R T a1y i TSR F1d I | 2
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(b)  In Figure 4, O is centre of a circle of radius 5 cm. PA and BC are

tangents to the circle at A and B respectively. If OP = 13 ¢m, then
find the length of tangents PA and BC.

& B

0] B

Figure 4

A straight highway leads to the foot of a tower. A man standing at the top
of the tower observes a car at an angle of depression of 30°, which is
approaching the foot of the tower with a uniform speed. Ten seconds
later, the angle of depression of the car is found to be 60°. Find the time
taken by the car to reach the foot of the tower from thispoint.

Case Study -1

In the picture given below, one can see a rectangular in-ground
swimming pool installed by a family in their backyard. There is a
concrete sidewalk around the pool.of width x m. The outside edges of the
sidewalk measure 7 m it 12 m. The-area of the pool is 36 s

(a) Based on the information given above, form a quadratic equation
in terms of x.

(b)  Find the width of the sidewalk around the pool.

9 P.T.O.
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ThOT F{ETAT - 2

14. S 9 39 B 981 & U o TEal & A1y fyee S=afes i ardt i
AT A8 | Sl 4 7 fohen foh Safer ardf st aftat an gg samdn qen e
SRt 1 gHM & ElET | 37 a1 sl o forg I e fommd ffeea o

$eh ;24 9l IE qAT 14 H SIS hT IATRR

Tt TEETRR It el ST 24 W 99T gATRR SMER i aify 44 T
2 |

" % C ' :
IUTH T % 3T %W%waﬁn
(F) 3@ Attt s 4 feraat et Bt TSt SE g 2 2

(@) s hT A W hh WR (0-5 kg, 1 kg, 1-5 kg, 30A11G) & ZEE €
forerar & | o9 STAvIRATER sl Wl fohaAT sheh AT T =R,
Ife 650 AHI> e 100 g ek & ST 2 ? 2
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Case Study - 2
14. John planned a birthday party for his younger sister with his friends.
They decided to make some birthday caps by themselves and to buy a

cake from a bakery shop. For these two items, they decided the following
dimensions :

Cake : Cylindrical shape with diameter 24 cm and height 14 cm.

Cap: Conical shape with base circumference 44 cm and height 24 cm.

Based on the @Qe i tion, answer the following questions :

(a) How r@ny sq@

(b)  The bak%q p sells cakes by weight (0-5 kg, 1 kg, 1-5 kg, etc.). To

hav% uired dimensions, how much cake should they order, if
650 c quals 100 g of cake ? 2

cm paper would be used to make 4 such caps ? 2

.30/3/1 11

Download all NOTES and PAPERS at StudentSuvidha.com


http://studentsuvidha.com/
http://studentsuvidha.com/

